Run 5177 quartetwise, posH(O: Beam DIN
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Run 5177 quartetwise, asym0Osub: Beam ON
Laser ON Entriea: 10945 Entries: 21011
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Run 5177 quartetwise, negHO: Beam DIN

Laser ON Entries: 10046 Entries: 21011 aami_Iach_noghi

B Mean: 15. 7853 +- 0.0051 Mean: 2.1663 «- 0.0023 21011

B — Laser OFF Std Dev: 0.8425 +- 0.0057 | Std Dev: 0.3304 +/- 00017 2.166
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-------- Histogram Vars

Positive Hel (ON): 14.957240 +/- 0.007692
Negative Hel (ON): 15.785270 +/- 0.008052
Positive Hel (OFF): 2.163064 +/- 0.002322
Negative Hel (OFF): 2.166316 +/- 0.002341
-------- Sums and Diffs

On Diff: -0.828030 +/- 0.006674

Off Diff: -0.003253 +/- 0.002594
On Sum: 30.742511 +/- 0.014264

Off Sum: 4.329380 +/- 0.003876
-------- Asymmetries
On Asym: -31.349183 +/- -0.253282 (ppt)
Off Asym: -0.123144 +/- -0.098203 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 26.413130 +/- 0.014781
BkSub Asym: -31.226039 +/- 0.271654 (ppt)
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Run 5177 quartetwise, posHO vs time
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Run 5177 quartetwise, asymQ0sub vs time
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Run 5177 quartetwise, negHO vs time
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Run 5177 quartetwise, bcm vs time
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